counts

P=12.3 GeV/c

dMom1

Nent = 230
Mean =-0.4456
RMS = 0.949

Chi2 /ndf =36.12/ 34
Const =12.99 £1.092
Mean =-0.451 +0.05883
Sigma =0.8345 +(.05801

dMom2

Nent = 349

Mean =-0.3587

RMS =0.7553

Chi2 / ndf =28.82/ 34

Const =42.15 +1.971
Mean =-0.3238 = 0.02624

Chi2 /ndf =5.627/7
Const =9.335+ 2.45
Mean =-0.1915+0.02714

1 ° Sigma—=0.6725 +0.01974
=1 dMom3
= Nent = 395
= Mean = -0.3307
= P=9.5 GeV/c RMS = 0.597
= Chi2 /ndf =58.16 / 35
S Const =127.8 + 3.789
=3 Mean =-0.3418 + 0.01308
o 0 5 : Sigma=05388 +0.009437
- dMom4
- Nent = 385
- Mean =-0.274
— P= 8.1 GeV/c RMS = 0.4642
= Chi2 / ndf =56.75/ 31
— Const =341.2 +7.334
:— Mean =-0.2799 +0.007145
in : . Sigma—=0.4331 +0.006000
— dMom5
— Nent = 336
__ Mean =-0.216
‘= P=6.7GeVic RMS =0:3971
— Chi2 /ndf =76.17 /33
__ Const =487.5 £ 10.07
— ) Mean =-0.2331 + 0.005267
s s z Sigma—=0.3362 + 0.004558
dMom6
Nent = 188
Mean =-0.1517
. P=5.3 GeV/c RMS =0.3716
@ Chi2 /ndf =51.31/ 29
ZZ Const =173.5+7.031
. . . Mean =-0.1978 +0.007487
Sigma—=0.2382 +0.00622
dMom7
Nent = 30
Mean =-0.1256
P 3 9 GeV/C A‘ RMS =0.4772

Sigma =-0.15+0.03286
4 6
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Pp4-Pps [GeV/c]




